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mMInagauswINiiaas B wien F

SS Total SST = X (Y, - Y)°
SS Regression SSR = b* X (X - X)*
SS Error SSE = SST-SSR
MS Regression MSR = SSR/1
MS Error MSE = SSE / (n-2)
F-test F = MSR/MSE
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e SS Total WuWen  SST: = 6* sy[shift]'2  9lé SST = 10
#1e1 SS Regresion WuWen  SSR := 6* (b* sx) [shift]'2 9:l¢ SSR = 4.620
w16 SS Error AuWe1  SSE : = SST-SSR 9:l¢ SSE = 5.371

%161 MS Error AuWen  MSE =SSE/a a¢ld MSE = 343

w1A1 MS Regresion ~ AuwWan  MSR = SSR 3¢ld@ MSR = 4.629
wen F - test Aunen  F = MSR/MSE 316 F = 3.447
W16 standard error of regression ANWA1 STDERROR : = MSE aanfl \/
3¢lé’ STDERROR = 1.159
5. MIINARAUAIWITINIGET B weit

wie1 s(b) WuWe1  sb: = MSE/ (6*sx[shift]'2) ¥nsauidanudrednlud
22l sb = 0.277

AT tRNWAN  t b/sb wld t = -1.857
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$S Error

MSE = SSE / [n-(k+1)]
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w1 YT uaadeiny mswnen XT
2l
yt =[6 8 9 10 13 15 7 18]

3. wier XX , XTY

~— 8 48
AUW xtx = Xt * x e xtx = 48 320 539
. 80 539 914
— 96
o 4 L%
AUW xty © = xt *y ald xty = 640
L 1.083 x 10°
4. w1 INVERSE MATRIX fa (X"X)™
AW ixtx © = xtx[shift]A-1
1.466 -0.563 0.204 —
1
e ixtx = -0.563 0.683 -0.353 |
0.204 -0.353 0.192 —
Vs a &£
5. wiangulszansninanas (b)
1.018
=Y & . L3
WUW b © = ixtx * xty 2wld b=| 0234
0.958
- a & ] - Qs 1
6. mMinagauaIwNiieal B widn F (18andiatng s 70)
e b' wldbt: =[1.018 0234 0.958)

w1 SS Total AWW SST: = yt *y - 8 * MEAN (v) vnseuidand
MEAN (y) usfuw [shift]r2 azle SST = 136

a L3

w11 SS Regression  WaW SSR: = bt * xty - 8 * mean (y) [shift]r2

221¢ SSR = 132.790

wen SS Error ANN SSE: = SST-SSR 2:'1¢ SSE = 3.210
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#1¢1 MS Error AUN MSE = SSE/5  3¢'lé MSE = .642
#1A1 MS Regression  #WWW MSR = SSR/2  a2lé MSR = 66.395
me1 F AUNF: =MSR/MSE  a¢l¢F = 103.433
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